13.3

14. fi. (x.v) = -&% (¥ cos v + e¥ sinx) = e* cos y +e” cosx and fHixy) = 'EET (¥ cosy +e¥sinx) = —e* siny+ e sinx.
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37. = [cos (2u —uv)+sin(2u+v)] = —2sin(2u —v) + 2cos (2u 4+ v).
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= — [cos (2u — v) + s (2w + v)] = sin (2u — v) + cos (2u + v), — = —4dcos (2u —v) — 4sin (2u 4+ v).
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— = —cos (2u —v) —sin (2u + v). and = =2cos(2u —v) — 2sin (2u 4+ v).
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and fy (x,v) = % (x sin” y 4 37 COSI) = 2xsmycosy + 2vcosxy =

fyx (x,¥) = 25 (2xsinycosy + 2ycosx) = 2sinycosy — 2y sinx. s0 fyy = fyx.
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27. Differentiating each equation in the system with respect fo x, we obtain — (x) = — (rr +uv ) = 2u— + do—
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and — (¥) = — (3:2 — ug) = 2u— + 2v—. Since y is an independent variable, — (¥) = 0. so we have
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